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Or perhaps even according to the v» R 7''%; that is only by 219,
which is eaten discreetly, etc.

OVERVIEW

The &7n3 presented a query whether we are 1°0m% 0°93 mX*win 7%yn. This query is
valid even if we maintain 7°0m% 71702 PRV PR, for the reason we are not 77¥n
70MH 721707 is because 72170 is YIS RPIRNA; however 293 NXROWI is X*077932, SO
it is likely that he would not be 192 X1 if he is not a 772, Our MdOIN discusses the
concept of (0112 7N 1P9¥7 PR because 71N is) AV SPIRNA.

nooIN asks:
- 21’0!‘\1’5 9999 NT2INM PYYN PN NIYY 91997 XUV XM NDYANA NDIN NN NN

It is astounding! How can the & n3 relate the idea of 10172 7 nn 1591 PR, to the
fact that 710 is eaten Xv1¥2?! For it is obvious according to everyone that we

cannot be 7>¥» to 1om based on the fact that he is eating 77%17n; the reason is -
- NYP 1119 TaY N1YT WHINIY NION NNT

For there is the concern that perhaps this person who is eating 72170 is the slave

of a 3772 who is permitted to eat 7210, Obviously we cannot be 77v7 anyone to 101 based on
the fact that he is eating 77n!
- N9 BN PONPY DIYYM DN 219997 XIN 1IN NN NPIYNA NIN

Rather the dispute whether we are Pom»% 72701 79P» or not, is where they

distributed 70 to this individual in the threshing place (as moon will shortly
explain). Why therefore does the X3 mention that 7”170 is eaten 7vIX] since it is irrelevant to our
discussion here?!

mooIN proves his point that the issue of whether Pom™? 1N 1997 or not, is dependent on 77N NPYPR
M7 N2 (but not with 7170 NIX):
= NY1N2 ININ NI IINDOIN NI PON1Y N1N2IINN )PU¥NI)

For there is no explicit argument of 2°Rin regarding 1Pom ™ 72190R Phyn -
- INY BN 129 Y2 1a¥Y 712199 PPN OX RN KON KD NOINT NIN

Rather the dispute whether Pon» nn11nn 1°%vn depends on the dispute whether
we distribute 72790 to a slave without his master present or not -

" This mooIn references the X3 previously on the '2 7.
* See ‘Thinking it over’ # 1.
? See “Thinking it over’ # 2.
* See later 2,mo.
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= NYD TaY N1DTT PHYN PN PPHIN 9MINT INIY
According to the 127 852 7ay® 2190 PP 7''%2, he will also maintain  7P9p» PN
1omL mnn, because perhaps this person who received 7170 is an 7ay.

In conclusion it is evident (according to mooin) that all agree that we are not 712¥n to Pom based
on the fact that he eats 72170, for he can be an 72v. The np17nn whether we are PonYH a1Nn 79V
refers to one who receives NM177 N°22 7m0, and issue is whether we distribute M1737 N°22 72170
to an 72y or not.

MooIN continues to explain how the X773 should have worded the query regarding nXwin 1°2vn
1705 0°od:
- 1YY PN MINT INDY 1PN NI 91919 1159 SPAIN Y9719
And this is how the X713 should have stated its question; here regarding 1°%vn
PoM? 2"Wwin, it is possible that even the one who maintains yoms mam 79992 PN -
= NI T2y NIYT UNNIY NIINY 129 KA 12y PRIINT N9 2999 0N
That is only regarding 772yn where we distribute 72170 to an 72¥ without his
master, so there is the concern that perhaps the person who received the 2170
is an T2y -
$9995 NV T2y PRT PUVYNT 79 NN ODYDY 095 MNIY)I JAN
However regarding 2°0> mx>wi, I will tell you that everyone agrees that hy»
7O 2"win since an 73y is not 153 XKW,
- NYINA RYINDNT VD) 929U 9 *AN9)]

It seems to me that the X723 correctly mentions N¥1°%2 Y998N% regarding the distinction

between 170 and 2"w1 (despite MdOIN reservations) -
= 190991 2193 NN NDIINN )PIY1N MINT INNDT

For the one who maintains 1°0177% 7m0 9% maintains that n9IORR 70717 PHyn

i~k also, and not only NI7AT D°22 amn npw’vrm -
— 79901 D% RYY 7aY NYIY YHIIY K91 1232

And this is so when it is in a manner that there is no concern that the person eating

7170 is an 72w, for instance if he was seen leaving a Jewish school -
- 8)’01\1’7 MDY RNY 132WN NIN N PYT 119 NIYL)I

And the reason we are 10119 72170 (N2°087) 7791 is since it is a capital crime for a 77 to
eat 1N, therefore we are concerned that perhaps (a mistaken 7"2) will be nby»
BM® someone who is eating 71N -

> Moo does not answer his question. See the following 2°12> Mmoo (in the brackets) who answers this question.
® This is an addendum of the 2°1w> Mo as indicated at the very end.
7 An 72y does not receive Jewish education for he is not obligated in 77071 T1%°2 (just like a woman).
¥ Eating 7110 for a 77 is punishable by (2w *7°2) 7n*s, therefore it is possible that a 7">2 may mistakenly assume
that this person who is eating 170 was substantiated to be a 175 and therefore he can be elevated °om>.
2
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- 913¥ 129 19 DX XX 1399 1P9IN PN 913 7991 71m19n3 195981 D1 53Y PAIOYN 99
And therefore in order to circumvent this mistaken 7"2, they required two 2°7¥ to
testify that he is a 172 to allow him to eat 72190, and therefore for the same reason we

also do not distribute 72¥® 7,10 unless his master is with him.
=YMYYY NIPY 291D WHN KD NI NN 1IYT 2) DY GN 1PDYNI PN 9INT NI
And the one who maintains Pon» 721707 P9e» PR (because one may eat X"y 7m11n) is
not concerned that a mistaken 7"2 may be 7p» him to 7°on even though it is a capital
crime -
= PN 199 NN NDIIN NMN NYINAT 119D

Since the eating of 7270 and similarly the distribution of 72170 is done discreetly,

therefore there is no concern that some may mistakenly be 75v7 him Pom? mmnn -
= 9MITY NIY 13PN IR NYY NIPIIN DDIDINT D95 MNIYI DAN

However regarding 2"w1 which is publicized, the X723 queries whether in this case
there is the concern that they may elevate him to o> (even according to the 7" that 15un X

7°OIYY ANn) -
= IND D10 O8N NN KD NIN 1N2T IND INT DIVUN

Because if he were not a 377> he would not be so brazen to be 153 xw11 in public.

The *"n explained why the X3 can and does use the case of 7170 n9O8. Now the *"n will reject that
which m»oin suggested that the X713 should have said:
= 1P5¥1N PR MMINT INDY ITAN MODIND 1ANIVY 1D VPINT S8 N NI

And the X773 could not have said as mpewn suggested that the query if >"win 1oyn

1’0 is even according to the 10m1 7m1INn PR PR 7'"A, and that is -
= NIN 7aY XYY YNMY NIINT OIVN

Because regarding being 1on 0mn [np1onn] avn there is the concern that perhaps

he is an 72Y (since the PO N PoYR TX 7"m maintains 127 X?2 722 79170 PRYN); this is what
m»ooIn suggested that the X773 should have said. However the *"1n rejects this -
= 151 PN NIN T2y RNYT WNIMNY RIYTT NI IT2ANT 1912 NI YT

For whether we are 10on% 7m0 7591 or not, does not depend on whether there exists
the concern that he may be an 72y, for even when there is no concern that perhaps he

is an 72Y, we are not ]’Di‘ﬂ"? Pajaaimlataly ird i according to that 7"n; the case where there is no concern

that he may be an 72¥ is -
= 73 1IRY 1PDY PDYNY IN 9901 N30 N¥I*A 9D

? Once we maintain that two 27y are required 71902 22X it is understood that we can be Pom nn 7297, See
R"2R17"7 2,72 '01n (footnote # 8 & 9).
1% Just as we require two 1902 12°9871 o7y for we are concerned (if we would only require one 7¥) that (since there
is an ann N for a 71 to eat m7N) they will mistakenly be 7%vn him from 0m1% 77N (based on the one 7v);
similarly we did not allow to be 7m0 72v% P21 so that someone (or v 7"2) should not mistakenly be 79¥n him
7onP? Nk, Now however that we require two 7n19n217°8777 2°7v and we are not M7 N°22 7a¥% P91, we can be
10N maNK TPV with any concern.
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Like, for instance, when we see him leaving a 9''52 or people testify that he is not an

72y (however the 0>7v do not know whether he is a 72 or not), nevertheless this 7"» maintains v PX
OMYY 7NN -
= 1P5¥N PNT DIVN 13990 139 XD 1Y PPIINT XD NN

And on the contrary, the reason that 7"» maintains 129 X2 72¥% P97 is because he
maintains "'PonrR amnn POYR PN -

- 19991 1R PYYN DIV 17NNTDT RIAYY 153
And the main cause of their dispute (whether we require one 73 or two 2> for n9°2X
nmn) is whether we are concerned for 1°0mv% 7mnn P2 (and therefore we require
two 2°7¥) or there is no concern that we will be 1012 7m1nn 79v» (and therefore one 7V

is sufficient for 7m0 N97IR) -
(09w MavIn) [P959Y ywpnw 115 r0ha XYAD NN DYP 991 INY INT

For if it is not so (but rather as N0 maintains that the Y721 whether 19997 or 1°%yn &Y
depends on whether we are 127 &2 770 72v% pon) what is the logic of their respective
opinions, as NN asked previously!] The bracketed section is from the ' .

SUMMARY

MooIN maintains that we are only 1oOr? 7N NP2In 79¥7 (according to the 7"»
1HYn), but not 7m0 NY°OXN since he may be an 72v. The reason why we are 1731 is
because 127 X2 72¥% PPN PR. However the °"1n maintains that the dispute whether
127 X723 72V° P9I is a result of whether PO, 71707 PYYA or not

THINKING IT OVER
1. m»ooin asks that it is obvious that the concept of on1 Nk 1PHyn does not
refer to 7m0 N9R (but rather to 70 npYom)."* How can nooin state this when

" This is the opposite what Mmoo said earlier that depending on whether 127 892 72> 1P or not will decide
(respectively) whether 7%y 1R or 1om1*? 7m1nn 1291, Rather (according to the °"in) the dispute whether 72v% PP
127 X922 or not, will depend (respectively) whether P71 1°X or PPonv? 71007 PovnA.
2 However according to the *"1n they argue whether we are concerned for a ¥ 7" that will be 7om1% a1IMA 799
(if only one 7¥ is required for 7m0 n?°9X). The one who maintains there is no concern, for no one will be 1%9n
7°0nY 711Ny, then one 7Y can be 7m1N2 9°o8» and we may be 127 X2 72v% "nn P, However the one who
maintains there is a concern for a 1y 7"°2 which will be pon? (X" 5"v) 7mnn 79vn, he requires that there be two
o7y for 770 N?°98 and also maintains that (as a result of P2vn) we rule 127 892 7299 1PN PR.
B x"yaxy 7"7 'on 2,77 at the end. mooIn asks let the o decide whether 10177 721707 1oy (and two 27y will be
required and 127 X232 72¥% PPN PR) or whether 1°0n% annn 1Povn 1R (and one 7Y is sufficient for 71N n9°oX and
127 X722 72Y% 1Pn). The answer is that there is a concern for a Ny that 7"2 (or people who see someone eating
7m0 will mistakenly be 7997 him to 71373, The npy2nn is whether this is a viable wwn (so therefore we require two
o7 for 717N N7°3X to circumvent this wwn and 1°5vn) or whether it is not a viable wwn (so therefore X"¥ is sufficient
for 72170 oK and 127 K72 72V P9I and 10MYL 1Nn 79VA TR).
1 See footnote # 2.
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the X773 previously said that (we cannot compare 72170 to "0 since) by 717N
there is a 1n» 1, and that is obviously discussing 72170 n7°2X for there is no 1N
for 212 0 npon 2!

2. Moo writes that the np12in of ond? INn 191 is dependent on the npYonn
whether we are 127 X223 72v% 70 p9.'® How will this oo responds to mooin
question previously'’ 355 8120 K21 n"RY'1'

% See *"10 and 2*37K NPX.
16 See footnote # 3.
7 R"yaRy ' 3,72. See also (here) footnote # 13.
'8 See [Ra] X",
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